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1 bepesHiok OkcaHa
2 boiiko leHnc
3 Masbesa NMiogmuna
4 [siueHko Mapisi
5 3aBogHuk AHacTacis
6 3anuesa Onbra
7 3sHbKO Maeno
8 Kpusuy Irop
9 NaspeHTiit OnekcaHapa
10 MemeToBa IHHa
11 Hocos [imutpo
12 OseukiHa KaTepuHa
13 Onicepko Mukona
14 CapoBeHko OkcaHa
15 CuBuupbka IpuHa
16 Ckoneup [lap’s
17 Uenik AHTOH
18 YepHuw tOnist
19 WkonbHui EereHiit
20 SApmoneHko HOnis
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A1*: http://andriystav.cc.ua/Downloads/MicroModel/Problem09.pdf
A2*: http://andriystav.cc.ua/Downloads/MicroModel/MM_Exam_2012.pdf
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CamocTiitHi po6oTu
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CamocTiitHa po6oTta
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